
  Feinschnitt-Bandsäge EXCALIBUR PEGAS SRP 14 CE 

04.09.2015  1 

Artikel Beschreibung 
Article Désignation 

SRP14CE-01 Base 

SRP14CE-02 Upper Frame 

SRP14CE-03 Steel Pin 1/4"x16mm 

SRP14CE-04 Hex Screw 3/4"x2-1/2" 
SRP14CE-05 Flat Washer 3/4" 
SRP14CE-06 Spring Washer 3/4" 
SRP14CE-07 Hex Nut 3/4" 
SRP14CE-08 Motor 
SRP14CE-09 Hex Screw 1/2"x2-1/2" 
SRP14CE-10 Flat Washer 1/2" 
SRP14CE-11 Nylon Nut 1/2" 
SRP14CE-12 Knob 3/8"x45L 
SRP14CE-13 Flat Washer 3/8" 
SRP14CE-14 Key 5x5x35L 
SRP14CE-15 Motor Pulley 
SRP14CE-16 Set Screw M6x14L 
SRP14CE-17 Lower Shaft 
SRP14CE-18 Ball Bearing 6204LLB 
SRP14CE-19 Key 5x5x60L 
SRP14CE-20 Pulley 7" 
SRP14CE-21 V Belt A-27 
SRP14CE-22 Lower Wheel 
SRP14CE-23 Tire 
SRP14CE-24 Flat Washer 1/4" 
SRP14CE-25 Hex Screw 1/4"x5/8" 
SRP14CE-26 C-Ring S-20 
SRP14CE-27 Bearing Cover 
SRP14CE-28 Cross Hd Screw 3/16"x3/8" 



  Feinschnitt-Bandsäge EXCALIBUR PEGAS SRP 14 CE 

04.09.2015  2 

SRP14CE-29 Brush 
SRP14CE-30 Cross Hd Screw w/Washer 3/16"x3/8" 
SRP14CE-31 Brush Holder  
SRP14CE-32  Frame Cover (Upper) 
SRP14CE-33 & 34 & 35 Switch for LED Light RF-1004 
SRP14CE-36 & 37 Switch 
SRP14CE-38 Fuse Base 
SRP14CE-39 Fuse 10A 
SRP14CE-40 Fuse 1A 
SRP14CE-41 Cross Hd Screw w/Washer 3/16"x1/4" 
SRP14CE-42 Plug-in Connector Lug  PC253-LO 
SRP14CE-43 Plug-in Connector Lug  PC225-2R 
SRP14CE-44 Power Cord 
SRP14CE-45 Strain Relief Bushing PG-9SL 
SRP14CE-46 Electron Plate Insulating Sleeve 
SRP14CE-47 Electron Plate Insulating Strip 
SRP14CE-48 Dashboard Group 
SRP14CE-49 Cross Hd Screw  M3x20 
SRP14CE-50 Terminal Block 
SRP14CE-51 Cross Hd Screw  M3x15 
SRP14CE-52 Clip 
SRP14CE-53 Capacitor Clip 
SRP14CE-54 Capacitor 20uF 400V 
SRP14CE-55 Girdle 
SRP14CE-56 External Gear Washer M5 
SRP14CE-57 Copper Washer M5 
SRP14CE-58 Cross Hd Screw w/Washer 3/16"x1/4" 
SRP14CE-59 Foam Sticker 
SRP14CE-60 LED Light  
SRP14CE-61 Cross Hd Screw M3x8 
SRP14CE-62 Cross Hd Screw  3/16"x5/16" 



  Feinschnitt-Bandsäge EXCALIBUR PEGAS SRP 14 CE 

04.09.2015  3 

SRP14CE-63 Clip ACC-2.5 
SRP14CE-64 Tensioning Cover 
SRP14CE-65 Tensioning Cam 
SRP14CE-66 Upper Shaft 
SRP14CE-67 Spring Pin 
SRP14CE-68 Fixed Shaft 
SRP14CE-69 Spring 
SRP14CE-70 Square Nut 3/8" 
SRP14CE-71 Cross Hd Screw  M4x5 
SRP14CE-72 L Type Back Plate 
SRP14CE-73 &74 & 75 Blade Tension Adjustment Knob 
SRP14CE-76 Wing Nut 5/16" 
SRP14CE-77 Blade Tracking Knob 5/16"x2" 
SRP14CE-78 Blade Guide Dust Plate 
SRP14CE-79 Lower Blade Guide Holder 
SRP14CE-80 Flat Washer 1/4" 
SRP14CE-81 Hex Screw  1/4"x3/4" 
SRP14CE-82 Lower Blade Guard ( L ) 
SRP14CE-83 Lower Blade Guard ( R ) 
SRP14CE-84 Cross Hd Screw  3/16"x1" 
SRP14CE-85 Hex Nut  3/16" 
SRP14CE-86 Bearing 629RS 
SRP14CE-87 Hex Screw  M6x18 
SRP14CE-88 Guide Post 
SRP14CE-89 C-Ring S-22 
SRP14CE-90 Small Steel Ball 1/4" 
SRP14CE-91 Spring  
SRP14CE-92 Set Screw  5/16"x5/16" 
SRP14CE-93 Knob 5/16"x1-1/4" 
SRP14CE-94 Upper Blade Guide Holder 
SRP14CE-95 Sleeve Screw M6x15 



  Feinschnitt-Bandsäge EXCALIBUR PEGAS SRP 14 CE 

04.09.2015  4 

SRP14CE-96 Upper Blade Guide (L Lower) 
SRP14CE-97 Upper Blade Guide (L Upper) 
SRP14CE-98 Copper Sets 
SRP14CE-99 Hex Screw M4x8 
SRP14CE-100 Blade Guard ( R ) 
SRP14CE-101 Hex Nut M6 
SRP14CE-102 Hex Screw M6x35 
SRP14CE-103 Flat Washer M6 
SRP14CE-104 Protective Glass for Blade ( R ) 
SRP14CE-105 Protective Glass for Blade ( L ) 
SRP14CE-106 Upper Wheel Housing 
SRP14CE-107 Flat Washer 3/16" 
SRP14CE-108 Mounting Post 3/8" 
SRP14CE-109 Flat Washer 3/8" 
SRP14CE-110 Mounting Post (Upper Wheel R) 
SRP14CE-111 Hex Screw  5/16"x1" 
SRP14CE-112 Upper Cover Door 
SRP14CE-113 Door Hinge 
SRP14CE-114 Spring Washer 3/16" 
SRP14CE-115 Sleeve Screw  M3x10 
SRP14CE-116 Hex Nut M3 
SRP14CE-117 Limit Switch QKS8 
SRP14CE-118 Sleeve Screw  M4x30 
SRP14CE-119 Cable line 
SRP14CE-120 Flat Washer M4 
SRP14CE-121 Hex Nut  M4 
SRP14CE-122 Thicken Plate for Micro Switch 
SRP14CE-123 Touch Plate for Micro Switch 
SRP14CE-124 Wave Washer WW-8 
SRP14CE-125 Flat Washer 5/16" 
SRP14CE-126 Flat Washer 5/16" 



  Feinschnitt-Bandsäge EXCALIBUR PEGAS SRP 14 CE 

04.09.2015  5 

SRP14CE-127 Nylon Nut 5/16" 
SRP14CE-128 Connect Plate for Door 
SRP14CE-129 Arm Cover (Lower) 
SRP14CE-130 Door Hinge (Lower) 
SRP14CE-131 Dust Outlet 
SRP14CE-132 Hex Screw  1/4"x1/4" 
SRP14CE-133 Lower Door 
SRP14CE-134 Connect Plate for Blade Guard 
SRP14CE-135 Screw 3/16"x3/8" 
SRP14CE-136 C-Ring R34 
SRP14CE-137 Ball Bearing 6202LLB 
SRP14CE-138 Upper Wheel 
SRP14CE-139 Hex Nut 1/2" 
SRP14CE-140 Mounting Post 3/8" 
SRP14CE-141 Table-Tilt Bracket  
SRP14CE-142 Hex Nut 5/16" 
SRP14CE-143 Hex Screw  5/16"x3" 
SRP14CE-144 Flat Washer  5/16" 
SRP14CE-145 Hex Screw  5/16"x1-1/4" 
SRP14CE-146 Trunnion 
SRP14CE-147 Trunnion Clamp Shoe 
SRP14CE-148 Hex Screw  M10x50L 
SRP14CE-149 Hex Screw  1/4"x5/8" 
SRP14CE-150 Spring Washer 5/16" 
SRP14CE-151 Flat Washer 1/4" 
SRP14CE-152 Scale 
SRP14CE-153 Pointer 
SRP14CE-154 Star Knob  M10 
SRP14CE-155 Table 
SRP14CE-156 Spring Pin φ3x10L 
SRP14CE-157 Set Screw  M4x8 



  Feinschnitt-Bandsäge EXCALIBUR PEGAS SRP 14 CE 

04.09.2015  6 

 

 

  

  
SRP14CE-158 Table Insert  3mm 
SRP14CE-159 Table Insert  5mm 
SRP14CE-160 Table Alignment Pin 
SRP14CE-161 Blade 12 
SRP14CE-162 Allen Key  4mmx70L 
SRP14CE-163 Crash Label 
SRP14CE-164 Speed Label 
SRP14CE-165 I.D. Label 
SRP14CE-166 Fuse Sticker 10A 
SRP14CE-167 Fuse Sticker 1A 
SRP14CE-168 Light Sticker 
SRP14CE-169 Motor Nameplate 
SRP14CE-170 Lightning Label 
SRP14CE-171 Temperature Rise Label 
SRP14CE-172 Ground Label 
SRP14CE-173 Blade 



  Feinschnitt-Bandsäge EXCALIBUR PEGAS SRP 14 CE 

04.09.2015  7 

 


